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Question: 1

Read the following information and answer the questions
that follow:

(i) Six friends A, B, C, D, E and F are sitting in a closed
circle facing the centre.

(ii) E is to the left of D.

(ii) C is between A and B.

(iv) F is between E and A.

Who is to the left of B?

(A) A
(B)C
(C)D
(D) E
Ans: C

Clearly, in the circle the arrangement is as shown :

Clearly, D is to the left of B.
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Question: 2

Which of the above given statements is superfluous?



(A) Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre.
(B) E is to the left of D.

(C) C is between A and B.

(D) None of these

Ans: D

Clearly, in the circle the arrangement is as shown :
Since all the statements are necessary to determine the arrangement, none of them is

superfluous.
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Question: 3
Who is to the right of C?
(A) A
(B) B
(C) D
(D) E
Ans: A

Clearly, in the circle the arrangement is as shown :

Clearly, A is to the right of C.
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